SO GIAO DUC VA PAO TAO DE THI THU TIENG ANH VAO LOP 10 THPT
- ” NAM HQC: 2014 — 2015
PE THI SO 10-24 DC: | ‘
[ ] Thoi gian: 60 phut (khong ké thoi gian phat dé)

(Pé thi gom 02 trang)

HOoVaten:....ooooiiiii e Loi dgn thi sinh: Thi sinh lam bai tryc tiép vao dé thi nay.
L('}p S6 bao danh Thi sinh khéng dwoc sir dung bat cir tai lidu nao ké ca tir dién.
Diém Giam khao Giam thi 1 Giam thi 2

(1-3) Choose the word whose underlined part is pronounced differently from that of the others: (1.5 pts)

1. A. nation B. vase C. nature D. grade
2. A. potatoes B. goes C. tomatoes D. diseases
3. A. choose B. child C. change D. chemistry
(4 — 13) Choose the word or phrase (A, B, C or D) that best fits the blank space in each sentence: (5 pts)
4. Will you please stop TV channels?
A. to change B. change C. be changed D. changing
5. She wishes she a millionaire now.
A. be B.is C. were D. has been
6. Hoa and Ba love movies on the weekends.
A. watch B. watches C. watching D. watched
7. Neil Armstrong, first walked on the moon, lived in the USA.
A. whom B. which C. who D. that
8. A tropical storm, which 120 kilometers per hour, is called a cyclone in Australia.
A. reaches B. shines C. strikes D. behaves
9. Quinhon will be sunny tomorrow and the temperature will be 25°C and 30° C.
A. between B. about C. from D. both
10. When a tropical storm reaches 120 km per hour, it is called in North and South America.
A. typhoon B. hurricane C. tornado D. volcano
11. The teacher suggests that we harder on our English pronunciation.
A. works B. working C. should work D. worked
12. Don’t . We have to keep our school yard tidy and clean.
A. litter B. put trash C. waste D. reduce garbage
13. Mrs. Ha got a to check all the water pipes in the house.
A. plumber B. mechanic C. worker D. driver

(14 — 16) Choose the underlined word or phrase (A, B, C or D) that needs correcting: (1.5 pts)
14. Our manager suggested that she should works overtime this week .

A B C D
15. Nam is taller student in his class.
A B C D
16. They suggested ban the sale of alcohol at football matches.
A B C D

(17 — 24) Choose the word or phrase (A, B, C, D) that best fits the blank space in the following passage
:(4 pts)
English is a very useful language. If we (17) English, we can go to any countries we
like. We will not find it hard to make people understand (18) we want to say. English also
1




helps us to learn all kinds of (19) Hundreds of books are (20) in English everyday

in (21) countries. English has also helped to spread ideas and knowledge (22) all
corners of the world. Therefore, the English language has helped to spread better (23) and
(24) among countries of the world.

17. A. know B. read C. write D. say

18. A. where B. how C. what D. when

19. A. object B. subjects C. math D. English

20. A. read B. told C. said D. written

21. A. few B. many C. alittle D. any

22. A.in B. for C. at D. to

23. A. understanding B. master C. grasps D. growing

24. A. friend B. friendship C. friendly D. friendless

(25 — 28) Supply the correct form of the words in parentheses to complete the sentences. (2 pts)

25. The sky is very . It’s going to rain. (Cloud)

26. are interested in the protection of the environment. (Conserve)

27. Aodai is always . (Fashion)

28. They had an day by the river. (Enjoy)

(29 — 32) Read the text and decide whether the following statements are True (T) or False (F) (2 pts)

Almost a hundred thousand people were killed and half a million homes burnt to the ground
because of an earthquake in Tokyo in 1923. The earthquake began at twelve when the inhabitants of
Tokyo were cooking their midday meals. All the food and stoves fell onto the ground as soon as the
earth began to shake. For this reason, small fires occurred and quickly spread. The fires trucks came
to help 10 minutes late because many of the street were too crowded then. As a result, more people
were killed in the fires than by the collapse of buildings.

Statements True false

29. Half a million homes were completely destroyed.

30. The earthquake struck the city of Tokyo at noon.

31. The fire trucks arrived soon enough to fight the fires.

32. The collapse of buildings killed one hundred thousand people.

(33 — 36) Complete the second sentences in such a way that it means the same as the original
one.( 4 pts)

33. Mary walks to the park everyday.

e\ £ A TR 1 11T I (o SO PPPPPPPPPPN

34. My parents let me play computer games yesterday evening.

35. They regret telling him the story.
= TREY WISH...eeeiiiii et ee e e e e e e e ettt eeeeeeeeeans
36. I cannot take a photo of us because I can’t find my camera.
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(1-3) Choose the word whose underlined part is pronounced differently from that of the others: (1.5 pts)

1. A. nation B. vase C. nature D. grade
2. A. potatoes B. goes C. tomatoes D. diseases
3. A. choose B. child C. change D. chemistry
(4 — 13) Choose the word or phrase (A, B, C or D) that best fits the blank space in each sentence: (5 pts)
4. Will you please stop TV channels?
A. to change B. change C. be changed D. changing
5. She wishes she a millionaire now.
A. be B.is C. were D. has been
6. Hoa and Ba love movies on the weekends.
A. watch B. watches C. watching D. watched
7. Neil Armstrong, first walked on the moon, lived in the USA.
A. whom B. which C. who D. that
8. A tropical storm, which 120 kilometers per hour, is called a cyclone in Australia.
A. reaches B. shines C. strikes D. behaves
9. Quinhon will be sunny tomorrow and the temperature will be 25°C and 30° C.
A. between B. about C. from D. both
10. When a tropical storm reaches 120 km per hour, it is called in North and South America.
A. typhoon B. hurricane C. tornado D. volcano
11. The teacher suggests that we harder on our English pronunciation.
A. works B. working C. should work  D. worked
12. Don’t . We have to keep our school yard tidy and clean.
A. litter B. put trash C. waste D. reduce garbage
13. Mrs. Ha got a to check all the water pipes in the house.
A. plumber B. mechanic C. worker D. driver

(14 — 16) Choose the underlined word or phrase (A, B, C or D) that needs correcting: (1.5 pts)
14. Our manager suggested that she should works overtime this week .

A B C D
15. Nam is taller student in his class.
A B C D
16. They suggested ban the sale of alcohol at football matches.
A B C D

(17 — 24) Choose the word or phrase (A, B, C, D) that best fits the blank space in the following passage
:(4 pts)




English is a very useful language. If we (17) English, we can go to any countries we

like. We will not find it hard to make people understand (18) we want to say. English also
helps us to learn all kinds of (19) Hundreds of books are (20) in English everyday
in (21) countries. English has also helped to spread ideas and knowledge (22) all
corners of the world. Therefore, the English language has helped to spread better (23) and
(24) among countries of the world.

17. A. know B. read C. write D. say

18. A. where B. how C. what D. when

19. A. object B. subjects C. math D. English

20. A. read B. told C. said D. written

21. A. few B. many C. alittle D. any

22. A.in B. for C. at D. to

23. A. understanding B. master C. grasps D. growing

24. A. friend B. friendship C. friendly D. friendless

(25 — 28) Supply the correct form of the words in parentheses to complete the sentences. (2 pts)

25. The sky is very _ cloudy . It’s going to rain. (Cloud)

26.  Conservationists _are interested in the protection of the environment. (Conserve)

27. Aodai is always  fashionable . (Fashion)

28. They had an __ enjoyable _day by the river. (Enjoy)

(29 — 32) Read the text and decide whether the following statements are True (T) or False (F) (2 pts)

Almost a hundred thousand people were killed and half a million homes burnt to the ground
because of an earthquake in Tokyo in 1923. The earthquake began at twelve when the inhabitants of
Tokyo were cooking their midday meals. All the food and stoves fell onto the ground as soon as the
earth began to shake. For this reason, small fires occurred and quickly spread. The fires trucks came
to help 10 minutes late because many of the street were too crowded then. As a result, more people
were killed in the fires than by the collapse of buildings.

Statements True false
29. Half a million homes were completely destroyed. T
30. The earthquake struck the city of Tokyo at noon. T
31. The fire trucks arrived soon enough to fight the fires. F
32. The collapse of buildings killed one hundred thousand people. F
(33 — 36) Complete the second sentences in such a way that it means the same as the original

one.( 4 pts)
33. Mary walks to the park everyday.

=> Mary is used to walking to the park everyday.

34. My parents let me play computer games yesterday evening.

=> | was allowed/permitted/let to play computer games yesterday evening.
35. They regret telling him the story.

=> They wish they hadn’t told him the story.

36. I cannot take a photo of us because I can’t find my camera.

=> If [ found my camera, I could take a photo of us.



